LIF2022F ZF R T LB M P HE ALK AE

1. THE S -
BRI O R

600—400= 200+300= 940—40= 2000+ 7000=

800+ 5000= 3900—900= 4000+30= 8400—8000=

48+8= Tx8= 28+5= 15+4=

54+9= 74+8= 369= 4x7=

2. A

17-2=8......18/E ), 178 ), 2R ( ), 8 ( ), 1R
« )

3. HT B

BRo8=5...... AF, BARKE, oMz ( N

4. 3HZT 8

INFRISAEERERE ( ) o ( NAEM ( ) M—AHERAZ809.
5. R

50+ ( ) 5 ( ) A BEAA1000,

6. I

HHO. 1. 9%H By K = A€ ), BNEMHR ( ) .

7. TR

T bR R A, HREAR0, XM ( ) .

8. HF M

E—EREERE, BRGUARIAES BERE4, BBREL ( ) .

9. IHE&

BREHEE FrRSEE.

T T o 1T T LT T

10. 3EHZ B -
FEo B b > 7 < PERe=",

6780768 90010999 9999010000

20F 012043 12K0804K 140 Kol0ZK

11. EHZ -



